CLIMAX
Part No.
C133E-075
C133E-087
C133E-100
C133E-112
C133E-118
C133E-125
C133E-137
C133E-143
C133E-150
C133E-162
C133E-168
C133E-175
C133E-187
C133E-193
C133E-200
C133E-212
C133E-218
C133E-225
C133E-237
C133E-243
C133E-250
C133E-256
C133E-268
C133E-275
C133E-287
C133E-293
C133E-300
C133E-325
C133E-337
C133E-343
C133E-350
C133E-375
C133E-393
C133E-400
C133E-443
C133E-475
C133E-493
C133E-500
C133E-543
C133E-593
C133E-643
C133E-693
C133E-700
C133E-743
C133E-793
C133E-800

3/4
7/8
1
11/8
1.3/16
11/4
13/8
17/16
11/2
15/8
111/16
13/4
17/8
115/16
2
21/8
2 3/16
21/4
23/8
2 7/16
21/2
2 9/16
211/16
23/4
27/8
215/16
3
31/4
33/8
3 7/16
31/2
33/4
315/16
4
4 7/16
43/4
415/16
5
5 7/16
515/16
6 7/16
615/16
7
7 7/16
715/16
8

fOCLIMAX

0.750
0.875
1.000
1.125
1.188
1.250
1.375
1.438
1.500
1.625
1.688
1.750
1.875
1.938
2.000
2125
2.188
2.250
2.375
2.438
2.500
2.563
2.688
2.750
2.875
2.938
3.000
3.250
3.375
3.438
3.500
3.750
3.938
4.000
4.438
4750
4.938
5.000
5438
5.938
6.438
6.938
7.000
7.438
7.938
8.000

www.climaxmetal.com

1.850
1.850
1.969
2.165
2.165
2.362
2.362
2.559
2.559
2.953
2.953
2.953
3.150
3.150
3.150
3.346
3.346
3.543
3.543
3.740
3.740
3.740
4.331

4331

4.528
4.528
4.724
4.921

4.921

5.118
5.118
5315
5.709
5.709
6.102
6.496
7.087
7.087
7.480
1.874
8.858
9.252
9.252
9.843
10.236
10.236

METAL PRoDUCTS COMPANY

ISO 9001:2008

2.047
2.047
2224
2421
2421
2.618
2618
2.815
2.815
3.287
3.287
3.287
3.484
3.484
3.484
3.681
3.681
3.858
3.858
4.016
4.016
4.016
4.685
4.685
4.882
4.882
5.079
5.276
5.276
5.472
5.472
5.669
6.063
6.063
6.457
6.850
7.441
7.441
7.835
8.228
9.213
9.606
9.606
10.197
10.591
10.591

SERIES C133 LOCKING ASSEMBLY
e Single taper design with flange

¢ Excellent concentricity

¢ No axial movement of mounted

0.669
0.669
0.669
0.669
0.669
0.669
0.669
0.669
0.669
0.787
0.787
0.787
0.787
0.787
0.787
0.787
0.787
0.787
0.787
0.787
0.787
0.787
0.945
0.945
0.945
0.945
0.945
0.945
0.945
0.945
0.945
0.945
1.024
1.024
1.024
1.024
1.339
1.339
1.339
1.339
1.732
1.732
1.732
1.732
1.732
1.732

Lq
0.886
0.886
0.886
0.886
0.886
0.886
0.886
0.886
0.886
1.043
1.043
1.043
1.043
1.043
1.043
1.043
1.043
1.043
1.043
1.043
1.043
1.043
1.201
1.201
1.201
1.201
1.201
1.201
1.201
1.201
1.201
1.201
1.299
1.299
1.299
1.299
1614
1614
1614
1614
2.008
2.008
2.008
2.008
2.008
2.008

L2
1122
1.122
1122
1122
1122
1122
1122
1.122
1122
1.358
1.358
1358
1.358
1.358
1.358
1.358
1.358
1.358
1.358
1.358
1.358
1.358
1.594
1.594
1,504
1,594
1,594
1.594
1.594
1.594
1,594
1,594
1772
1772
1772
1.772
2.165
2.165
2.165
2.165
2559
2559
2559
2559
2.559
2.559

L3
1.358
1.358
1.358
1.358
1.358
1.358
1.358
1.358
1.358
1673
1673
1673
1673
1673
1,673
1673
1673
1673
1673
1673
1673
1673
1.988
1.988
1.988
1.988
1.988
1.988
1.988
1.988
1.988
1.988
2.244
2.244
2.244
2.244
2717
2.717
2717
2717
3.110
3110
3110
3110
3.110
3.110

component during installation

M¢ Fax
(ft-Ibs) (lbs.F)
196 6,265
228 6,265
313 7518
352 7518
372 7518
522 10,024
574 10,024
600 10,024
626 10,024
1,097 16,206
1,139 16,206
1,182 16,206
1,266 16,206
1,308 16,206
1,350 16,206
1,640 18,521
1,688 18,521
1,736 18,521
1,833 18,521
2,116 20,836
2,170 20,836
2225 20,836
3405 30,403
3,484 30,403
3642 30,403
3,721 30,403
3,800 30,403
4,632 34,204
4810 34,204
4899 34204
4988 34,204
5938 38,004
7449 45,406
7,568 45,406
8395 45,406
10,110 51,081
14,135 68,706
14,314 68,706
15,566 68,706
18,886 76,340
24,572 91,608
26,480 91,608
26,719 91,608
35486 114,510
37,872 114,510
38,170 114,510

Ps

33,106
28,376
29,795
26,485
25,091
31,781
28,892
27,636
26,485
33,596
32,351
31,196
29,116
28177
27,297
29,361
28,522
27,730
26,270
28,796
28,076
27,392
31,759
31,037
29,687
29,056
28,450
29,545
28,450
27,933
27,434
28,450
29,883
29,416
26,516
27,867
27,575
27,230
25,039
25,478
21,790
20,220
20,039
23,576
22,091
21,918

Ph

13,418
13,418
15,136
13,760
13,760
16,818
16,818
15,624
15,524
18,489
18,489
18,489
17,333
17,333
17,333
18,644
18,644
17,608
17,608
18,767
18,767
18,767
19,708
19,708
18,852
18,852
18,066
19,511
19,511
18,761
18,761
20,073
20,611
20,611
19,281
20,377
19,212
19,212
18,201
19,212
15,836
15,162
15,162
17,815
17,130
17,130

2.517
2.517
2.793
2.970
2.970
3.499
3.499
3.667
3.667
4.569
4.569
4.569
4.728
4.728
4.728
5.200
5.200
5.357
5.357
5.831
5.831
5.831
6.927
6.927
7.075
7.075
1.229
7.829
7.829
7.978
7.978
8.588
9.363
9.363
9.648
10.585
11.183
11.183
11.487
12.425
12.794
13.137
13.137
14.961
15.283
15.283

All dimensions are shown in inches unless stated otherwise. All dimensions and capacities are subject to change without notice.

Locking Screws

Qty.

O W W W OO OO OO WWIWOOOMOMMNNN~N~NJ~ ~JOOoOoOowOo o o u O

o

O W W o o

Size
M6 x 20
M6 x 20
M6 x 20
M6 x 20
M6 x 20
M6 x 20
M6 x 20
M6 x 20
M6 x 20
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M8 x 25
M10 x 30
M10 x 30
M10 x 30
M10 x 30
M10 x 30
M10 x 30
M10 x 30
M10 x 30
M10 x 30
M10 x 30
M12 x 35
M12 x 35
M12 x 35
M12 x 35
M14 x 40
M14 x 40
M14 x 40
M14 x 40
M14 x 40
M14 x 40
M14 x 40
M14 x 40
M14 x 40
M14 x 40

M,
(ft-1bs)
13
13
13
13
13
13
13
13
13
30
30
30
30
30
30
30
30
30
30
30
30
30
61
61
61
61
61
61
61
61
61
61
107
107
107
107
170
170
170
170
170
170
170
170
170
170

16 * Minimum hub outside diameter based on a Pressure Reduction Factor of C=1.0 and hub material with tensile yield point 2 45,000 psi. For details refer to page 8.



